F____F A W g _J W J

PARTING AND GROOVING TOOLHOLDERS / OTPE3HbIE N KAHABOYHbIE [IEPYXABKU ’- UA:’ v

EXTERNAL TOOLHOLDERS / OEPXABKU 071 HAPY>XHOIO TOYEHUA EI
ﬁ
S
—,
MGEHR/L S
(@)
! é ! L
h A (:g
T i
|| ; S
w il L
Dimension (mm) Inserts/ Screw/ Wrench/
Pa3mepbl (MM) MnacTuHa BUHT Kniou
Type/
0603HayeHHe .
H L S w amax / ’ (
1616-2 16 100 15 2 14,5 M5x17 sS4
2020-2 20 125 19 2 14,5 MGMN200—M M6 % 20 S5
2525-2 25 150 24 2 14,5 M6 %20 S5
1616—2.5 16 100 15 2.5 16,5 M5x17 S4
2020-2.5 20 125 19 25 16,5 MGMN250—M M6 %20 S5
2525-2.5 25 150 25 2.5 16,5 M6 %20 S5
1616-3 16 100 14,8 3 18 MGMN300—M M5x17 sS4
2020-3 20 125 188 3 18
2020-3-T10 20 125 188 3 10
2525-3 25 150 238 3 18
MGMN300—M
2525-3-T10 25 150 23,8 3 10
3232-3 32 170 30,5 3 18
3232-3-T10 32 170 30,5 3 10
2020-4 20 125 185 4 18
2020—-4-T10 20 125 18,5 4 10
- 25 150 23,5 4 18
MGEHR/L |2525-4 MGMNA00-M
2525-4-T10 25 150 235 4 10
3232-4 32 170 30,5 4 18
iy 32 170 30,5 4 10
3232-4-T10 M6x20 o5
2020-5 20 150 18 5 23
2020-5-T15 20 150 18 5 15
2525-5 25 150 23 5 23
MGMN500—M
2525-5-T15 25 150 23 5 15
3232-5 32 170 30 5 23
3232-5-T15 32 170 30 5 15
2020-6 20 125 17 6 23
2020-6-T10 20 125 17 6 10
2525-6 25 150 22,6 6 23
MGMN600—M
2525-6-T15 25 150 22,6 6 15
3232-6 32 170 29,6 6 23
3232-6-T15 32 170 29,6 6 15

# Inserts / nnacTuHbl —

www.foxenct.com




